ER-IERRREE-RR

TMEFSA23BIRE

SEXEE FMIWERRE

T I T X TS
RET —RAHEHE JELE
MR EEELOME | B
X7 (BKE) RER=EHEE |10
(EMKE) |TERSEHEE [153
I EEEE | B)IFRE=34.3, {Ed)IGRE=17.7, AA)IIFE=15.3
sk AL JBIRig=(5, 34), fiEd)IRiE=(5, 15.9)
BRI T®R |
g [S&BE%E
- R E 5 EE 20m/s
ZAE EHRE 20m/s FEHED
= = 7= iy 1265 EIFEE D iES25cm
= REORS Lt 128 MBE QR E450m
KR E )
B ] _
X7 REWSEHEE |6
TIERMEEHERE |105
T EEEE |[BIFE=17.2, HD)GEE=141, AR)IIFE=12.2
— HoEsE JBRg=(5, 17.2), {EH)I5RE=(5, 14.1)
EEANBKTR |_
IZkBEHE
58 i, E 5 EE 12m/s
S T RE 12m/s EBFHS
= R i 1205 % E D FES10cm
- REORS i3t 1265 E D FE250m
BB e
EEIR =i BT
£ EEFICKYBENTEINSEE
BE
=5 1872 [100m
BrI% =/NEE 35% TEMEE 60%
- QBEENRE 50cmLl L HYBBRIE 12CULEIEN Y DR ™2
! BESE -3CUTF*®
B BEHICRIESE 2°CUT
&K
. 4B EOFES it 10emBl L. U 30cmil E
B -1°c~3°C
ECERMIERER KRR 1RHEREE [100mm

EREREEY, REREIER) O hEICLAEEEERLTIVET,
*? SURIFEILMARRE . LR g KRBT OE,
P SEBERELEREEDIE,



